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I Analysis of 2" clause in ® mwn: minn have a farther reach than nn nwxy
a  I¢ half: minn apply to 8% 9pa, whether slaughtering one or many
i Question: why not point out that 3”1 also applies to na»v?
ii  Answer: our mwn follows v, who infers (not from minn, rather from a”yn —v. 1) that ma»v do not have 3"m
1 Challenge: why not infer from 132 that it does?
2 Answer: 307 is more similar to 2”yn (ultimately, since both apply to v1wa
b 2" half: »n7 only applies to sheep
i Source: na::nr (vv. 2-3) — must be lambs
ii  Challenge: why not infer jxx::1¥ from v. 4, which is understood to cross-over and prohibit mwa nri as well?
1 Answer: v. 2 indicates 1> ;nn — must be able to be used for a significant use (wool for garment)
2 However: goat hairs aren’t nr3, so they are excluded
(a) Challenge: that is *01 "1's opinion, but he allows for “normal use” (see below re: vVp?)
(b) Answer: v. 5 (juxtaposed to 3"m) hints that use of 7R 13 must be for mvw ("N 1)
(i) And:nvx:npyis used to teach that only “warming wool” is given
¢ Tangent: dissenting mmn»M1 if there is liability if he washed the wool off of the lambs (all agree that oty 1 is M09)
i Resolution: »ov "1 doesn’t find liability there
1 Per: his opinion about vp (vv. 6-7) — that liability only generated if he harvested in the usual way
2 Challenge: "ov " agrees (per v. 7) that whatever the usual form of cutting is generates vpY-liability
II  Analysis of 'a mwn
a  Minimum amount of sheep: w"a (2) vs. n"a (5)
i 772 explain nmwy (v. 8) as 179ya nk M and remind the owners to perform a mxn (3"n7)
ii  Dissent: »ov "1 infers (v. 9) that 4 lambs is the minimum (*27 confirms wholeheartedly) - n7von from »RYm 751 70
b Minimum amount of wool to generate liability: RoyT 1 — 1.5 N per lamb; n'non — any amount
i Explanation of o’nom. 27: must have a total of 1.5 mn, divided among the five lambs (37.5 n»H0); YRnW - 60; 1 - 6
1 Clarification: S®wy 11 both said 60 — 27's smaller amount was a minimum gift to each 1n
2 Tangent: "M is 60, nmAn is 1/60, nra is 1/60
(a) Detail: " n is any amount Rn»1XRTN, 13127 obligate 1/40 (1/50) for kn»1rT produce, 1/60 for 13277 (e.g. p7)
(i) And:nRais any amount n”nn; 1317 obligate 1/60 (2:X NRa) — our RN extends 1/60 to H"n
3 Tangential story: clarification that our nawn reads mbn3 (in spite of v. 10 — that is NN NWY, this is wnaN NYY)
4 Note: 11V of 1/60 seems to oppose our mwn (1.5 nn)
(a) Answer: Ran is using the 40-y50 amount for nn - 1.5=60 yYo
¢ Minimum gift: to make a small garment, per v. 5 — must be n1n> 121 that can be used by 1111 1908 2 vIaR
i Not: nas for y»x (v. 11) which is only used by 2"n3
d discussion: if he cut and sold each at a time — n"1 obligates (since he cut), X’»win 72 1M1 "1 exempts (no 2vn at one time)
i challenge: from our mwn; buying non-Jew’s shearings is exempt - getting his sheep in order to shear is liable
1 even though: he cuts one at a time
2 defense (1”1 0n behalf of his disputant): case where he got them for 30 days (e.g.) to shear
e  Last clause: if the seller left any over, he is still liable for mann
i Attribution: N7 '3, who rules (n:3 nR9) that if the seller left any for himself, he alone gives nxa for all
1 Challenge (#37): that is only if the owner began cutting (per v. 6) — but here, if he began shearing, not yet 2n
2 Rather: it is ®in of 3> PYIN >no one sells 2"ann, here too, they aren’t sold = seller who keeps any is liable
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